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SUMMER TERM 1 - YEAR 4 TUESDAY MORNING ACTIVITIES

5 Fluency Questions

87x6=

8+3+3=

4594 - 1378 =

3 x600 =

200+ 5=

5 Maths Problems

6. What is the value of the 8 in this
number? 2,789

7. Write the number 13 in Roman
numerals.

8. 8,629 -5,318 =

9. Estimate the answer to:
4,012 + 15,982

10. From 500 tickets, pupils buy 235 &
parents buy 188. How many are left?

Spelling Challenge

Each sentence below has one word
that is incorrect. Write the correct
spelling of this word.

. The dog had been very norty.

. Ina minit, the film will start.

. The dentist asked me a questshun while he looked at my teeth.
. The wimen were sitting at the bus stop chatting.

. Twas out of breaf after running up that hill.

Tricky Question ©

What animal is always
at a baseball game?




